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Exam 3

1.

(17 points) Write the following expressions so the exponents are positive. Leave answers in
exponential form.
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2. (11 points) Simplify the following polynomials.
a. (3 points) )y (12y* —7y> +8y) + (4y* +9y° — 6y? +11)
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b. (3 points) (12y* — 7y3 +8y) — (4y* + 9y3 — 6y* +11)
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c. (5 points) (5x3y? — 3xyS + 12x2) — (-9x% — 8x3y? + 2xy°)
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3. (14 points) Find each product. Simplify your answer as much as possible.
a. (4points) (5t)(8t7 —5t> —12t% — 3)

- (5O(347) + (SO(-5E7) + (59Ent) + 6O (2)

= (Up4® - 25+° = (ot® —\S‘EX

b. (4 points) (x —5)(3y +9)

- @;\5 +Qx—\§tﬁ —’%5)

c. (6points) (a—2)(5a® —9a + 14)

= 562 (0-2) - @Qa)o*D) +14(a-?)
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4. (11 points) Perform each division.
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5. (10 points) Perform the indicated operation.
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6. (11 points) Find the greatest common factor (GCF) of each expression. Rewrite the expression with
the GCF.

a. (5points) 60z* + 7028 +90z° = ( 02" )( "l:"?;q + Q2> )
6oz" = 9[".3.5 2
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7. (16 points) Factor each expression completely.
a. (5points) y2—13y+ 40
b. (6 points) 3x* + 30x° + 48x2
c. (5points) n? — 64
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(10 points) The length of a rug is 6 ft more than the width. The area is 40 ft*. Find the length and
width of the rug.
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Extra. (10 points) Factor and simplify the expression completely. (m +n)? — (m — n)?
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